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SIMPLE UNEAR EGUATIONS 
o 1a (A) 

12 

-l+48 A5 m=60 > 5m=6OX12 

m-60X 12=Uu 

xercisa2 CC 
Cau) 2c4A4 

3c-2 

+-52(2x C +1) = (3oc-)xE5 
3r-2 

8r y = l5-10 8x-16C=-|0- 2-1r--jy 
C= 

xetcise12(D) 
&CI) he sum of thtee con.seCuti ve odd numberr3 1S 63. 

find the numbertS. 
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AnS Lot he firstodd number, be 

he 3econd congecutive dd nurnbere i3 C +2 

The thiid Consecutive ao numbert)S

he Sum of all thiee consecutive odd UnbePr 
s 63. 

tx+2t2+U= 63 
3+6 =6 9 

= 

The SAm 

19 

Henco2 the tmee consecutiye odd cunnberca axe 
ta and +y .Ae 192,25 
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